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Beispiellösung	
  für	
  die	
  Präsenzübung	
  Nr.	
  4	
  

Aufgabe	
  1	
  (Relationenalgebra):	
  

1. Welche	
  Teile	
  kann	
  man	
  in	
  Nürnberg	
  kaufen?	
  

	
  

Einzeiler:	
  

π[Teil](	
  (σ[Ort=‘Nürnberg‘](Lieferant))	
  ⋈	
  Liefert)	
  

	
  

Lösung	
  mit	
  Zwischenschritten:	
  

LieferantNürnberg	
  =	
  σ[Ort=‘Nürnberg‘](Lieferant)	
  

Lösung:	
  π[Teil](	
  LieferantNürnberg	
  ⋈	
  Liefert)	
  

	
  

2. Wer	
  liefert	
  die	
  billigsten	
  400er	
  PCs?	
  

	
  

Einzeiler:	
  

π[Wer](σ[Teil=‘pc400‘]	
  

(Liefert-­‐(π[Wer,Teil,Preis,Lieferzeit](	
  σ[Preis	
  >	
  Preis‘	
  Λ	
  Teil=Teil‘]	
  

(Liefert⋈(β[Wer‘←Wer](β[Teil‘←Teil](β[Preis‘←Preis](β[Lieferzeit‘←	
  Lieferzeit](Liefert))))))))))	
  

	
  

Lösung	
  mit	
  Zwischenschritten:	
  

Liefert‘	
  =	
  β[Wer‘←Wer](β[Teil‘←Teil](β[Preis‘←Preis](β[Lieferzeit‘←	
  Lieferzeit](Liefert))))	
  

LiefertTeureAnbieter	
  =	
  π[Wer,Teil,Preis,Lieferzeit](σ[Preis	
  >	
  Preis‘	
  Λ	
  Teil=Teil‘](Liefert⋈Liefert‘))	
  

LiefertBilligsteAnbieter	
  =	
  Liefert	
  -­‐	
  LiefertTeureAnbieter	
  

LiefertBilligstepc400	
  =	
  σ[Teil=‘pc400‘](LiefertBilligsteAnbieter)	
  

Lösung:	
  π[Wer](	
  LiefertBilligstepc400)	
  

	
  

	
  Alternative	
  

Einzeiler:	
  

π[Wer](	
  Liefert-­‐(π[Wer,Teil,Preis,Lieferzeit](	
  

σ[Preis	
  >	
  Preis‘](σ[Teil=‘pc400‘](Liefert)⋈	
  σ[Teil‘=‘pc400‘]	
  

(β[Wer‘←Wer](β[Teil‘←Teil](β[Preis‘←Preis](β[Lieferzeit‘←	
  Lieferzeit](Liefert)))))))))	
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Lösung	
  mit	
  Zwischenschritten:	
  

Liefertpc400	
  =	
  σ[Teil=‘pc400‘]	
  (Liefert)	
  

Liefertpc400‘	
  =	
  β[Wer‘←Wer](β[Teil‘←Teil](β[Preis‘←Preis]	
  

(β[Lieferzeit‘←	
  Lieferzeit](Liefertpc400))))	
  

LiefertTeureAnbieterpc400	
  =	
  π[Wer,Teil,Preis,Lieferzeit](σ[Preis	
  >	
  Preis‘](Liefertpc400⋈Liefertpc400‘)	
  

LiefertBilligsteAnbieterpc400	
  =	
  Liefertpc400	
  -­‐	
  LiefertTeureAnbieterpc400	
  

Lösung:	
  π[Wer](LiefertBilligsteAnbieterpc400)	
  

	
  

Lösung	
  mit	
  Division:	
  

Liefertpc400	
  =	
  σ[Teil=‘pc400‘]	
  (Liefert)	
  

Preisepc400	
  =	
  β[Preis‘←Preis](π[Preis](σ[Teil=‘pc400‘]	
  (Liefert)))	
  

Liefert‘pc400	
  =	
  σ[Preis	
  <=	
  Preis‘]	
  (Liefertpc400⋈Preisepc400)	
  

Lösung:	
  π[Wer](	
  Liefert‘pc400	
   ÷	
  Preisepc400)	
  

	
  

3. 	
  Wer	
  liefert	
  die	
  billigsten	
  400er	
  PCs	
  und	
  in	
  wie	
  viel	
  Tagen?	
  

π[Wer,Lieferzeit](LiefertBilligstepc400)	
  

 

4. Wer	
  liefert	
  alle	
  Teile?	
  

π	
  [Wer,	
  Teil](Liefert) ÷ 	
  π	
  [Teil](Teil)	
  

	
  

5. Wer	
  liefert	
  (mindestens)	
  ein	
  Teil	
  nicht?	
  

π	
  [Wer](Liefert)	
  –	
  (π[Wer,	
  Teil](Liefert) ÷ 	
  π[Teil](Teil))	
  

 

6. Wer	
  liefert	
  alle	
  Teile,	
  die	
  Arm	
  bestellt	
  hat?	
  

π[Wer,	
  Teil](Liefert) ÷ 	
  π[Teil](σ[Kunde=‘Arm‘](Auftrag))	
  

 

7. Wer	
  liefert	
  (mindestens)	
  ein	
  Teil,	
  das	
  Arm	
  bestellt	
  hat,	
  nicht?	
  

π	
  [Wer](Lieferant)	
  –	
  (π[Wer,	
  Teil](Liefert) ÷ 	
  π[Teil](	
  σ[Kunde=‘Arm‘](Auftrag)))	
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8. Welcher	
  Lieferant	
  liefert	
  alle	
  Teile,	
  die	
  Meier	
  bestellt	
  hat,	
  in	
  maximal	
  4	
  Tagen?	
  

	
  

Einzeiler:	
  

π	
  [Wer,Ort]((π[Wer,	
  Teil](σ[Lieferzeit<=4](Liefert))÷π[Teil](σ[Kunde=‘Meier‘](Auftrag)))	
  

⋈Lieferant)	
  

	
  

Lösung	
  mit	
  Zwischenschritten:	
  

Liefert<=4Tage	
  =	
  σ[Lieferzeit<=4](Liefert)	
  

AuftragMeier	
  =	
  σ[Kunde=‘Meier‘](Auftrag)	
  

LiefertMeier<=4Tage	
  =	
  π[Wer,	
  Teil](Liefert<=4Tage) ÷ π[Teil](AuftragMeier)	
  

Lösung:	
  π	
  [Wer,Ort](LiefertMeier<=4Tage⋈Lieferant)	
  

	
  

9. Welche(r)	
  der	
  Lieferanten,	
  die	
  alle	
  Teile	
  liefern,	
  die	
  Meier	
  bestellt,	
  bieten	
  den	
  billigsten	
  400er	
  PC	
  

und	
  was	
  kostet	
  er?	
  

	
  

Lösung	
  mit	
  Zwischenschritten:	
  

LiefertMeier	
  =	
  (π[Wer,	
  Teil](Liefert)	
  ÷ 	
  π[Teil](σ[Kunde=‘Meier‘](Auftrag)))⋈(Liefert)	
  

LiefertMeierpc400	
  =	
  σ[Teil=‘pc400‘](LiefertMeier)	
  

LiefertMeierpc400‘	
  =	
  β[Wer‘←Wer](β[Teil‘←Teil](β[Preis‘←Preis](β[Lieferzeit‘←	
  Lieferzeit](	
  

LiefertMeierpc400))))	
  

LiefertMeierpc400Teuer	
  =	
  π[Wer,Teil,Preis,Lieferzeit](σ[Preis	
  >	
  Preis‘](LiefertMeierpc400⋈LiefertMeierpc400‘))	
  

Lösung:	
  π[Wer,Ort,Preis](	
  (LiefertMeierpc400  -­‐  LiefertMeierpc400Teuer  )⋈Lieferant) 

	
  


